
DELANO BASKET  
Installation  Manual

REQUIRED TOOLS:

•	 3mm Hex Wrench

•	 4mm Hex Wrench

•	 5mm Hex Wrench

•	 8mm Box Wrench

•	 10mm Box Wrench

	 [SEE FIGURE 1.]

INCLUDED HARDWARE:

•	 Basket Braces (2)

	 [SEE FIGURE 2.]

•	 Mounting Bracket

•	 M4 x 12mm bolts (4)

•	 M5 x 20mm bolts (2)

•	 M5 x 15mm bolts (4)

•	 M4 Locknuts (2)

•	 M5 Locknuts (4)

•	 Bracket Spacers (2)

•	 M4 Washers (6)

•	 M5 Washers (4)

	 [SEE FIGURE 3.]

FIGURE 1.

FIGURE 2.

FIGURE 3.

M5 X 15mm Bolts (4)

M4 X 12mm Bolts (2)

M4 X 12mm Bolts (2)

M5 X 20mm Bolts (2)



STEP 1
Remove slat beneath the cup holder using  the 

3mm Hex Wrench and 8mm Box Wrench.  

Set slat aside.

[SEE FIGURE 4.]

STEP 2
Attach Basket Braces with M5 x 15mm bolts, 

M5 washer, and M5 Locknut using the 5mm 

Hex Wrench and 10mm Box Wrench. Do not 

tighten down completely.  

*Note the braces are not symmetrical. The right 

(bicycle drive side) brace is stamped ‘R’ facing 

out when mounted and left is stamped ‘L’ 

facing out when mounted. 

[SEE FIGURE 5.]

The braces are mounted on the inside of the 

basket mounting rail.

[SEE FIGURE 6.]

Both braces are mounted loosely and can slide 

forward and back on the basket.

[SEE FIGURE 7.]

FIGURE 4.

FIGURE 5.

FIGURE 6.

FIGURE 7.



STEP 3
Attach Mounting Bracket with M4 x 12mm 

bolts, M4 washers, and M4 Locknuts.  The 

bracket angle faced down.  Do not tighten 

down completely.

[SEE FIGURE 8.]

If necessary, use included spacers and M5 x 

20mm to ensure basket sits level on smaller 

front forks.  Do not tighten down completely.

[SEE FIGURE 9.]

STEP 4
Slide Mounting Bracket onto threaded brake 

bolt, or separate bolt, or separate bolt approx. 

45mm in length (not included), if there is no 

front brake.

[SEE FIGURE 10.]

Tighten down brake with 5mm Hex Wrench. 

Tighten separate bolt with locknut if there is no 

front brake.

[SEE FIGURE 11.]

FIGURE 8.

FIGURE 10.

FIGURE 11.

FIGURE 9.



STEP 5
Mount lower brace flange using M4 x 12mm 

bolts and M4 washers into the fork drop out 

braze-ons. Tighten bolts with 4mm Hex Wrench.

[SEE FIGURE 11.]

STEP 6
Slide basket along mounting bracket toward, 

or away from the front of the bike.  Tighten 

down bracket completely once basket is level 

using 4mm Hex Wrench and 8mm Box Wrench.

[SEE FIGURE 8.]

STEP 7
Slide basket along mounted braces to desired 

distance from front of the bike.  Tighten down 

M5 x 15mm bolts and M5 Locknuts completely 

using M5 Hex Wrench and 10mm Box Wrench.

[SEE FIGURE 6.]

STEP 8
Replace slat beneath the cup holder using  

the 3mm Hex Wrench and 8mm Box Wrench. 

Tighten down all slats completely.

[SEE FIGURE 12.]

STEP 9
Double-check all nuts and bolts to ensure they 

are tight.  

Delano Basket is installed.

[SEE FIGURE 13.]

FIGURE 11.

FIGURE 12.

FIGURE 13.


